FERFIRAPFI2EERY - B4 2P =8P ¥

#¥:3-1~3-2 FL% )i b coRAR

~  E- SR (R34 £ 544)

1.( ) 4® % AB=AC > BD=CD * ~ABD=25" > p| /ACD= ?
A

B C
(A)20° (B)25" (C)30° (D)Hsm:z4at¥ o

2.( ) = Av el 0 A, ABFG 22w i) ACDE $25 & = )
4 BE=GC
#M = /ABAE 22 AGAC *
w75 ABFG ~ ACDE 55 1 = 4}

S 14 2= /34 22 & /BAE= LGAC---Q
iD~©@ @7 ABAEzAGAC (__® 2%PH)
..BE =GC

FRERTIENTAREREE?

¢ Q
(A)SAS (B)ASA (C)AAS (D)RHS-

3.( )W ¥L1=22> £3=24> %% AC=BD » BT A B famupm i Jiz A 5w 2 (7 ) L1=22 .. ZDAB=
ZCBA; (¢ ) AC=BD ; (i )/AABD= ABAC (ASA > %% ) ; (7 )~s3=,4> AB=AB - ~DAB= ~/CBA -
D C

(A)E’%b—)ﬁ—)" (B)9—>"—>ﬁ—>b (C)9—>ﬁ—>'7—>b (D)L—)f‘i—)"—)g °
4. () 4B > APQR Z - B44 4 = 245 E‘JA‘B‘CI:E!—?&-TF’%‘?@ » APQR b 9

P

S.( ) B GEAABCHEw » FAABCHm ff5 36 L > 20 » PIAAIA TG fF 2 § 223 007

(A)12 (B)15 (C)18 (D)21-

6.( ) TrAIMzZ AP i PEEm? (AP wAZ £ 20 Mg (B)P w2 £ 2 FEaRER 4p ¥
(COHP wenEg 2 bz &£ 25hp 3% (D)E & = & 2ehth S fop w2 5 fp— 8o



7.( ) 4® 2 #$7,ABCD* > AB=AD > BC=CD > |~ S P K R 7
D

A C
B

(A)AABC=ANADC (B)«B=«D (C)AABD i ¥"%= 435 (D)«DAB= ~DCB -

8.( )ik - BAEI 182 ME £2 87 FUHFLENNT A2 EAPI R AR EEEMN?  (A)10
(B)9 (C)8 (D)7~

9.( ) 4> #APQR: PR % T #dr&r QR £ & RE& A4 ain (hik) 2308 BT 54
BFE?

(A)QO=RO (B)a#msmmidsm (C)OLAPQR#]R < (D) O % APQR &t o

10. () 4@ > AB=AC » BD=CD » £BAP=ZCAQ» 1™ 5 @ £B=2C iz » Bl ovi- BH Y Biod 4 g2 7

# - @4 AD -

#35= © & AABD 22 AACD ¥ -

"~ AB=AC > ~BAD=~CAD -+ AD = AD -

# = 1 AABD= AACD (SAS > {5 )

% e e /B=LC -

(A)##- (B)#h&H= (C)HZ= (D)% Hr -

1L () ToImed s wges|slenfat > e e ? (A)Fmidso plTmtle g (B)eEmiwg ol (m+1)%< 5+
(C)Emigc pim s 4hzdic (D)Ems:EE: B 2m?+1 13m1’§>‘:

12. () T73 B = &25¢ thoengeit o PELAE? (A) »”F:.;;T‘P{f’}j-g.lﬁ]ﬁ’:]}ﬂ,uaE%,!‘J?F;ujljé.Tﬁf%#ﬁjﬁE%ﬁ#ﬁi (B) *hwp|=z &350
ZHFIER (C) e R T A AR b (D)o FRAE MRS A0 52 BE S Az 7)o

13.( )4 B G337 &= 4&2,ABChE < » % AB=12> BC =16 ] BG = ?

A

B C

(A)? (B)% (C)10 (D)igt=z &> @z 18 o



14. () 4B 1 5 AABC p Il - D E~F 578 BT 5l4cit v ¥ 42 2

B

(A)ig#: Al » i@ 5D2 (B)@s Bl » vd#BE® (C)@#CF  wi@iElg (D)@# ID-IE-~IF »p ID=1E
T

15.( ) 4«® > AABC*® D E-~F=2# BC v %4 > AG: AC=1:3>H 3 AB 2 * 2o T 5|vi— B2 5 AABC e & ?
A

(ADX (B)Y (C)zZ (D)H)W-

16. () 4B - AABC # - BD =CD » AE = EC > B 5l4cit in 4 4538 2

B D C

(A)G 2 AABC:¥ .« (B)BG :BE=2:3 (C) AG=2GD (D)AAEG # # >/BGD # #

17.( ) 4B > &AABC*¥ ~E % BC ¢ 8> AF T4 ,BAC> AF LBD »* AB=1224 » EF =524 » BC =15 24 » p| T 5| f
¥ Bif £ 3P AABF= AADF ?

A

(A) ASA (B)SSA (C) SAS (D)RHS -

18.( ) M TET « oA AP 15 + /8 #1548 chiff 7 :
(P)A5V15>9=3> 8>4=2 » #1115 + 8 >3+2=5
® 1548 =23 < /25 =5 » #7121 /15 + /8 >5> 1548 -
%15 +- /8 # /15+8
(¢)it- B2 &= 47 amgsns 15 -8
fin 3 d 232 (V15)%+ (A8 )2=15+8 » WA HE 5 V1548
F% V1548 ~ V15 « /8 L g = £ A5z B E - #1215 + /8 > 1548
%15 + /8 = 15+8

20A A gngi o T AR- BHETE RS ? (A)A A g (B)A Agiassr (C)P mago e & (D) &% ¢ LA



SR (FER24 £ 4048)
Lipka~b 3 Bl BTl 5 Hl ik bk

(1)2a+3% [ Y #o (2)4b—6 % [ )
2.4c® > G 5 AABC ehE . » % AF =17 CD =18 BE =19 ] GD + GE +GF = [ ]
A
D E
B ya C
3.0 2% AABC #7b v » % OB +0C =145 p] OA= [ ] -

4. el E(1)~(3)4

A
B<\/C
D

(1)% AB=BD » s1=_,2> p|¥ 33 [ 1 2% %M 2 AABC= ADBC -

(2)%is#:csz AB=BD » AC=CD - pl¥ 24 [ 1 285 p I AABC= ADBC -

(3)FiEies LA=2D> £1=2,25 BlF 33k [ 1 2%% > @p ) AABC= ADBC -
5. 4§ > AABC # > O 2.5 AABC ehehw » % ZA=75" > g ,BOC= [ 1% -

A
B C

6. AABC# > 1 ip w213 AB erpedps 25 |13 AC ehpegp s [ )
7.3 £z 425 ABC ¥ » LA=90" - % AB =9 BC =15 B|AABC ¢p = [l # = [ ] -

8. trE 4= &)Y satb6 i AP E ca~biARE Y a b i Bl K@D L1208
EAUD
c.o(a+6)?=a’+h?
[ @O 1=a+p

b’=12a+36=12x ([ (2 1)

9.4r® > AABC ® > = ¢ s AD ~ BE ~ CF 2% G & > £ACGE i # % 12T = 24 » BIAABC i 4 5 [

C

A = B

10. APQR ¥ 1 3 APQR p *» lzh j= » * APQR 1% & 5 42 24 » APQR 3 £ 5 63 = 24 » il r= [

) BRI



11. 4@ > ABCD 5 X #w i#4;» AC 2 BD **G-E 5 BC * 2% > AE 2 BD **F- g/ GF : DG = [ ] -

MD
B E C

12. AABC 2 p % O % 2B+ £C=110" > p| «BOC= [ 1% -
13. 4v® > AABC # » AB=AC =20 BC =24 AD % BC } 1% > O %5 AABC etk » £AABC eheh 212 o= [ 1 -
A
/Ivo\
B c
D
14, 4cF > AABC ® > | 8%} = [fle0[l » AB =14 BC =12+ AC =8 £AAIB & # : ABIC & # : AAIC & # = [ ] -

15. © 4 : 4@® > AABC ¢ > AB=AC > BD=CD -

C
A4 ? > B
A
BAC

+3% 1 /BAD=~CAD -
#M : AAABD &2 AACD ¥ >
" AB=AC (¢ 4) -
(L @ 1)
[ @ 1 (=%%)
./AABD = AACD (SSS » %15 ) >

# /BAD=/CAD (& 4p %) -

=~ RAHGA)
L4cB P AB~C i 2Miehz B % » BE- B2 IZ BA2 RIS > f1% CRIERHB D 2P el o (3 B 55,
34)

A

B.

Oe



2. RAMFLE R F - BRI A AcnP e > B R T b fefkiRdc™ Bl 0 0T ES R b aE N F

B HIEREBNEE=
AR B - BR —
BRRIEY - L ABCR | |5 5B
Z ACBBE—IRATHS | | MEHE
MR 1 B » ABIC @4 | | SPEBE
wy - HpEsmEy - || B -




